CONCORDIA PARISH	PLANT ENTERPRISES PRODUCTION
0 0 1 1 0 0 1 1 1 1 1 1 1 1 1 1 1 1 1 1	TEM TEM TEM TUSES TRODUCTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
COTTON						
Lint - Irrigated (Total)		2,650.0	1,200.00	3,180,000	lbs.	\$1,531,488
Lint - Non-irrigated (Total)		40,372.0	1,000.00	40,372,000	lbs.	\$19,443,155
Seed - Irrigated (Total)		2,650.0	1,920.00	5,088,000	lbs.	\$245,242
Seed - Non-irrigated (Total)		40,372.0	1,600.00	64,595,200	lbs.	\$3,113,489
Cotton (Total)	110	43,022.0				\$24,333,373
FORESTRY						
Pulpwood						
Hardwood				40,864	cords	
Pulpwood (Total)				40,864		
Saw Timber						
Hardwood				3,870,534	board feet	
Saw Timber (Total)				3,870,534		
Total Pulpwood, Chip & Saw,						\$4,524,530
Saw Timber FOB Mill						
Total Forestry Stumpage						\$2,015,758
(Total)						
Christmas Trees (Total)	*			80	trees	\$3,200
Forestry (Total)						\$4,527,730
FEED GRAINS						
Corn (Total)	125	12,609.0	85.00	1,071,765	bu.	\$2,840,177
Grain Sorghum (Total)	95	8,331.4	60.00	499,884	cwt.	\$2,342,456
Oats (Total)	*	120.0	90.00	10,800	bu.	\$19,116
Feed Grains (Total)		21,060.4				\$5,201,750
HAY FOR SALE		,				
Grass (Total)	20	10,000.0	0.50	5,000	tons	\$462,000
Hay for Sale (Total)		10,000.0				\$462,000
Home Gardens (Total)	520	,				\$104,000
PECANS						
Improved (Total)	30	206.0	510.00	105,060	lbs.	\$136,578
Native (Total)	35	620.0	385.00	238,700	lbs.	\$226,765
CONCORDIA PARISH						•

CONC	OF	RDIA	PA	RISH

PLANT ENTERPRISES PRODUCTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
Pecans (Total)		826.0				\$363,343
Rice (Total)	10	7,943.0	65.00	516,295	cwt.	\$4,595,026
Sod Production (Total)	*	35.0			acre	\$175,000
Soybeans (Total)	200	85,867.0	22.00	1,889,074	bu.	\$11,062,417
Sweet Potatoes (Total)	*	3.0	350.00	1,050	bu. (50 lbs.)	
VEGETABLES						
Sweet Corn (Fresh) (Total)	*	45.0	700.00	31,500	doz. ears	\$110,250
Vegetables (Total)		45.0				\$110,250
Wheat (Total)	25	2,373.0	45.00	106,785	bu.	\$428,582
TOTAL ALL PLANT ENTERPRI	SES	-				\$51,363,471

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

Fisheries	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value
AQUACULTURE						
Crawfish (Farm) (Total)	10	700	Acres in Prod.	350,000	lbs.	\$420,000
Turtles (Total)	10			100,000		\$65,000
Aquaculture (Total)				Ź		\$485,000
Alligators (Wild) (Total)				1,312	ft.	\$32,813
HUNTING LEASES						
Waterfowl (Total)	7	12,000	No. Acres		acre	\$600,000
			Leased			
All Other Game (Total)	30	80,000	No. Acres		acre	\$560,000
			Leased			
Hunting Leases (Total)						\$1,160,000
Honey (Total)	*	600	No. Hives	92,600	lbs.	\$83,340
TOTAL ALL FISHERIES & V	VILDLIFE ENTERPRISES					\$1,761,153

ANIMAL ENTERPRISES PRODUCTION

A minus 1	Number of	Units of		Total	Units of	Gross Farm
Animal	Producers	Production		Production	Measure	Value
CATTLE & CALVES						
Steer Calves						
300-400 lbs.				3,458	head	\$1,718,989
400-500 lbs.				1,727	head	\$963,277
500-600 lbs.				865	head	\$529,557
600-700 lbs.				864	head	\$593,892
Steer Calves (Total)						\$3,805,716
Heifer Calves						
300-400 lbs.				865	head	\$381,859
400-500 lbs.				5,188	head	\$2,706,969
500-600 lbs.				1,000	head	\$578,105
600-700 lbs.				1,200	head	\$799,344
Heifer Calves (Total)						\$4,466,276
Yearling Cattle						
600-700 lbs.				1,062	head	\$689,955
700-800 lbs.				1,063	head	\$756,989
Yearling Cattle (Total)						\$1,446,944
Cow-Calf Pairs (Total)				6,800	pair	\$6,461,428
Cull Cows (Total)					head	\$326,808
Cull Bulls (Total)				173	head	\$146,280
Cattle & Calves (Total)	108	8,646	No. Cows			\$16,653,452
HORSES		,				, ,
Brood Mares						
Show Horses	125	85	No. Brood Mares	30	head	\$120,000
Recreation Horses	260	135	No. Brood Mares	85	head	\$127,500
Brood Mares (Total)						\$247,500
Stud Fees						,
Show Horses		10	No. Stallions	50	mares bred	\$75,000
Recreation Horses		60	No. Stallions	120	mares bred	\$60,000
Stud Fees (Total)						\$135,000
Show Horses (Total)	25			30	head	\$150,000
Recreation Horses (Total)	260				head	\$450,000
CONCORDIA PARISH	-00			200		4.23,300

CONCORDIA PARISH ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value
Horses (Total)						\$982,500
POULTRY						
Edible Eggs (Total)	20	410 No.	. Hens	11,070	doz. eggs sold	\$7,904
Pullets (Total)	20			300	each	\$2,430
Poultry (Total)						\$10,334
RABBITS						
Fryers (Total)	*	80 No.	. Animals	320	lbs.	\$256
Does (Total)	*	800 No.	. Animals	4,000	lbs.	\$600
Rabbits (Total)						\$856
GOATS						
Show Goats (Total)				21	head	\$5,250
Slaughter Goats (Total)				210	head	\$26,250
Stocker Goats (Total)				50	head	\$4,750
Cull Goats (Total)				50	head	\$3,250
Goats (Total)	22	420 No.	. Does			\$39,500
SWINE						
Show Pigs (Total)				3	head	\$840
Feeder Pigs (Total)				905	head	\$27,150
Slaughter Hogs (Total)				180	head	\$21,640
Culls (Total)				27	head	\$4,320
Swine (Total)	*	60 No.	. Sows			\$53,950
EXOTIC ANIMALS						
Llama (Total)	*	No	. Animals	12	head	\$12,000
Exotic Animals (Total)						\$12,000
TOTAL ALL ANIMAL ENTE	ERPRISES					\$17,752,592

\$70,877,215 **CONCORDIA PARISH**